region-centroid-row <= 155.5
entropy = 2.806
samples = 1500
value = [205, 220, 208, 207, 236, 220, 204]
class = window

Try {ilse

rawred-mean <= 26.5 exblue-mean <=7.722
entropy = 2.337 entropy = 1.164
samples = 1045 samples =455
value = [205, 206, 208, 2, 0, 220, 204] value = [0, 14, 0, 205, 236, 0, 0]
class = path class = window

rawblue-mean <= 101.778
entropy = 1.219
samples =414

=[0,176,17,0, 0, 220, 1]

class = path

hue-mean <= -1.889
entropy = 1.81
samples = 631
value = [205, 30, 191, 2, 0, 0, 203] value
class = brickface

hedge-sd <= 20.896
entropy = 0.567
samples = 15
value = [0, 13,0, 0, 2,0, 0]

class = sky

hue-mean <= -2.187
entropy = 0.474
samples = 194

value =[0,176,17,0, 0,0, 1]

class = sky

hue-mean <= -2.222
entropy = 1.376
samples = 376

value = [3, 30, 185, 0, 0, 0, 158]
class = foliage

4
rawreenq[;(r)neag 1< 55'2611 entropy = 0.0 entropy = 0. 0 entropy = 0.0
sam pl)és _ '270 samples = 176 samples =13 samples = 1
P value = [0, 176, 0, 0, O, 0, 0] value =[O, 13 0,0,0,0,0] value =[0,1,0,0, 0,0, 0]
class = sky class = sky class = sky

value = [3, 27, 83, 0, 0, 0, 157]
class = grass

/

entropy = 1.379

hue-mean <=-2.091

entropy = 0.0 _
samples =3 igtrfgggffgg samples =7
oo =0.8.0.0.0.0.01| | i T6750. 0. o0 vl 216.0.2.0,0.0,1
y class = foliage

T

/

rawred-mean <= 7.889
entropy = 1.545
samples = 36
value =[2,19, 3,0,0,0, 12]
class = sky

entroov = 0.918 region-centroid-row <= 129.5

Sarr?gles =3 entropy =9.774
value =19,0,2,0.0,0,1] e
class = foliage value =10, 0,78, 0, 0, 0, 23]
class = foliage

T

saturation-mean <= 0.495
entropy = 0.723
samples = 21
value = [0, 18, 2,0, 0, 0, 1]

class = sky

hue-mean <=-2.136
entropy = 1.563
samples = 15
value=[1,7,1,0,0,0, 6]

region-centroid-col <= 128.0
entropy = 0.993
samples = 51

value = [0, 0, 28, 0, 0, 0, 23]
class = foliage class = sky
raw;en(:;cr)r;)eya;l 3332722 entropy = 1.0 entropy = 0.986 entropy = 0.0 entropy = 1.459
_ samples = 2 samples =9 samples =15 samples = 6
. 3?5"8'6256 53 0 9] value = [0, 1,0,0,0,0, 1] value =[1,7,1,0,0,0,0] value = [0, 15,0,0,0,0,0] | | value =[0,3,2,0,0,0, 1]
class = foliage class = sk class = sky class = sky class = sky
entropy = 0.971 entroply =1 f
samples =

value =[0,1,1,0,0,0, 2]
class = grass

samples =5
value = [0, 0, 2,0, 0, 0, 3]
class = grass

_E EER




